Lesson 21 - LEC 100 - 10/19/2022

B Mean Ve Themramn & What DanvativeS “Jelt Us

War Up — A’hnoumaWuM‘i'S

@oﬂels T heorem -
TF f@) b b

Conhinuouns oV
(2> Arifovantid ble (a1b)

Y= ) ,
“}‘L,e,,3> " af least O \/cv‘v*/‘ of ey cald 1T
L\ju_m‘;<c<\a wmd  F =0 B
: | ‘\(’(15 (S C.SV\"WWMT‘AS MCanL7
F oo )

« L ff o (a %) v

T oMb Thun There anists a
such Fnat- £ =0
Cownrer J /Y D o) s ehamous
) 2) F@ B8 vt iff X
% ot at (o
Ta o Bollek Thun olees not WVZ}
¢ ) confe
! A D F@ uerWS? K
: < ﬂqlteg T A
T o net =Py

?
B gy = AR A\



D) xe ) eomtrurms o (2. . e contrnons
2) Ts £ A;ﬁc’i‘; (02 T e ALl
5 ke Bl =F@) ~ o 1)
-E(o): Og/q'o“‘]’&’ = 6
- ¥ -g¥b * G

3

oo c

Pollels Tam says Hrwrt exists
W vt occ<ca ad ‘}’Cc\:o
Oolles T doesnd el us e valur of ¢

NOTE:
To ol < Sle fl=o ?
Wt D <X <R
’gl(l>; 31/1.-‘:’— - 0 V\]dM""
2% N H<x &R
2 EE
+72 r’j—'—
L= 1 =
o

Q: for what” funchms foN m (el
< Huwe a 630}M- Whure e T
s povilld o Mo seant bond”



#

:l% f) ts ‘.I
]

D WﬁV\ won on EML
L Speanble m (0°)

ot least one

) CA“‘\\M '

Whare G <l o g/(tytjﬁ(u)v%(x\
— | - <

+ne
? d slope oF

% se a:m‘\'
L




jviean V77 b some pomt 1M TTE T
kVM 'W\urwv\) at sSowmu ¥

/? What Hhe Deriverive Tells Us (Part 1)

o
gim - end {7
(3!\/‘94/\ {:(X\ (a1 £l < AWS\\»@.
& 7 o £/2) < O |
e, FN S MW“NQ’
x {/h,) >0
o <y
V\’_I/ODAY/
é\w oo (o, O £°'(x) >0 |
LR £(2) nareasingT

CCIO\) %/(7"3 <0 \
|‘ S f) decreasing
by ' 720

fay Sy
()= 0 =0 <— L 20— <, d awe
‘F ‘F SSom Cn_\_\ LM FO l‘;\i{
1w oo | ( NN (: leﬁ min
= { ' 2 v lecal ey
A < 4 b



< 4 L

2N

0 el . e
Trwun

Civt Dorivative Test:
et T

Lot x=¢
(\.e- {—’(c\ =0

Thun WC haine
-P('IA

3 (eseS

be & e cald POiM'
oY {—/ (O = DNV

o
. ’f’(’t) m/‘/\,ﬂes
w @ o ©

awoss <

i

C

(§ &

Aocal MY

/_T/ dramges_ 7
(u) ‘?( @ ‘o @

ACYOSS C

L

C

S Fn) dpcon b o
S"?h aro <9 4
\\ 4

—

C C



o oy = 3% - 02
—— ,
_)rtul PO\V\‘I‘S, ‘S//(')C\—O "f (w
(Sx 15" =0 F@f&oy\,owval

Dyaw a b, BL G e e i

=
DD 0O 0O o EED o+
—TF— * pAug in SO Soumpla
valnts of X

0 ] S\
A / \] C‘ﬁl(l( /
focal d«uj& {:/(05) \aq/a;(i/dn - 701(7‘)

@r7” 1S ) (2-D (2¥) = @

Yt
@xr=-1 s (o.gf' (oS,D(o.erﬂ

» @ o ® =09

(e




